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Ten persons namely –Zoye, Madhu, Raj, Navya, Hema, 
Gogi, Abhi, Kajal, Parul, and Luv attend a birthday event 
in five different months viz.- January, April, July, 
September, December. Birthday in each month was 
scheduled on the 3rd and 4th of the month. All the 
information is not necessary in the same order. The 
number of persons is attending a birthday after Zoye is 
the same as the number of persons is attending the 
birthday before Raj. Zoye attends birthday two months 
after Madhu, who attends the birthday on an odd date. 
Raj and Luv attend the birthday in the same month. The 
number of persons is attending the birthday between Luv 
and Madhu is the same as the number of persons is 
attending the birthday between Zoye and Parul. The 
number of persons is attending the birthday between 
Gogi and Raj is one less than the number of persons is 
attending the birthday between Kajal and Abhi. Gogi
attends birthday three months before Parul, who attends 
birthday in one of the months has 31 days. Abhi attends 
birthday on the 4th of the month but not in January. Kajal 
and Navya attend birthdays in the same month. At least 
two persons attend the birthday between Hema and Zoye.
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दस व्यक्ति अर्थाि ्- ज़ोए, मधु, रथज, नव्यथ, हेमथ, ग़ोगी, अभि, कथजल, 
पथरुलऔर लव पथांच अलग-अलग महीनों में जन्मददन समथऱोह में िथग
लेिे हैं।- जनवरी, अप्रैल, जुलथई, भसिांबर, ददसांबर। प्रत्येक महीने में
जन्मददन महीने की 3 और 4 िथरीख क़ो ननधथाररि ककयथ गयथ र्थ। सिी
जथनकथरी एक ही क्रम में आवश्यक नहीां है। ज़ोए के बथद जन्मददन में
शथभमल ह़ोने वथले व्यक्तियों की सांख्यथ उिनी ही है क्जिनी रथज से पहले
जन्मददन में शथभमल ह़ोने वथले व्यक्तियों की सांख्यथ है। ज़ोए, मधु के द़ो
महीने बथद जन्मददन में िथग लेिथ है, ज़ो ववषम निथर् पर जन्मददन में
शथभमल ह़ोिथ है। रथजऔर लव एक ही महीने में जन्मददन में िथग लेिे हैं।
लवऔर मधु के बीच जन्मददन में शथभमल ह़ोने वथले व्यक्तियों की सांख्यथ
उिनी ही है क्जिनी ज़ोएऔर पथरुल के बीच जन्मददन में शथभमल ह़ोने वथले
व्यक्तियों की सांख्यथ है। ग़ोगी और रथज के बीच जन्मददन में शथभमल ह़ोने
वथले व्यक्तियों की सांख्यथ कथजलऔर अभि के बीच जन्मददन में शथभमल
ह़ोने वथले व्यक्तियों की सांख्यथ से एक कम है। ग़ोगी पथरुल से िीन महीने
पहले जन्मददन में िथग लेिथ है, ज़ो ककसी एक महीने में जन्मददन में िथग
लेिी है, उसके पथस 31 ददन ह़ोिे हैं। अभि महीने की 4 िथरीख क़ो जन्मददन
में शथभमल ह़ोिथ है लेककन जनवरी में नहीां। कथजलऔर नव्यथ एक ही
महीने में जन्मददन में िथग लेिे हैं। हेमथ और ज़ोए के बीच जन्मददन में
कम से कम द़ो व्यक्ति शथभमल ह़ोिे हैं।
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Who among the following person attends birthday on 4th of January?
A.Kajal
B.Abhi
C.Gogi
D.Navya
E.None of these

Who among the following person attends the birthday event 
along with Gogi in the same month?
A.Abhi
B.Zoye
C.Hema
D.Madhu
E.None of these

Who among the following person attends the birthday just after Abhi?
A.Zoye
B.Gogi
C.Madhu
D.Luv
E.None of these
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How many persons attending the birthday between Navya and Abhi?
A.Four
B.As many as between Hema and Abhi.
C.Two
D.As many as between Luv and Kajal.
E.Either C or D

Which of the following statement is/are not true?
I). Luv attends the birthday just after Raj.
II). Three persons attending the birthday between 

Zoye and Luv.
III). Zoye and Abhi attending the birthday in the same 

month.
A.Only III
B.Only II and III
C.Only I and II
D.Only I and III
E.None of these
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Eight persons are sitting in a row, in such a 
way some of them are facing south while 
some are facing north. V sits third to the left 
of Q. U is not an immediate neighbour of Q. 
P sits third to the right of V. W sits to the 
immediate right of P. W does not sits at any 
of the extreme end of the line. Only one 
person sits between R and U. P sits second 
to the left of R. S sits second to the right of 
W. Both the immediate neighbour of P faces 
the same direction to each other. Both the 
immediate neighbour of V faces the 
opposite direction to each other. S faces the 
same direction as W. T faces the same 
direction as R. V faces same direction as U. 
T faces north.

आठ व्यक्ति एक पांक्ति में बैठे हैं, इस प्रकथर उनमें से
कुछ कथ मुख दक्षिणकीओर है जबकक कुछकथ मुख उत्तर
कीओर है। V, Q के बथयें से िीसरे स्र्थन पर बैठथ है। U, Q 
कथ ननकटिम पड़ोसी नहीां है। P, V के दथयें से िीसरे
स्र्थन पर बैठथ है। W, P के ठीक दथयें बैठथ है। W, पांक्ति
के ककसी िी अांनिम छ़ोर पर नहीां बैठथ है। R और U के
बीच में केवल एक व्यक्ति बैठथ है। P, R के बथएां से दसूरे
स्र्थन पर बैठथ है। S, W के दथयें से दसूरे स्र्थन पर बैठथ
है। P के द़ोनों ननकटिम पड़ोसी एक-दसूरे की ददशथ में
समथन ददशथ कीओर उन्मुख हैं। V के द़ोनों ननकटिम
पड़ोसी एक दसूरे के ववपरीि ददशथ की ओर उन्मुख हैं. S, 
W के समथन ददशथ कीओर उन्मुख है। T कथ मुख R के
समथन ददशथ कीओर है। V कथ मुख U के समथन ददशथ में
है। T कथ मुख उत्तर कीओर है।
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Eight persons are sitting in a row, in such a 
way some of them are facing south while 
some are facing north. V sits third to the left 
of Q. U is not an immediate neighbour of Q. 
P sits third to the right of V. W sits to the 
immediate right of P. W does not sits at any 
of the extreme end of the line. Only one 
person sits between R and U. P sits second 
to the left of R. S sits second to the right of 
W. Both the immediate neighbour of P faces 
the same direction to each other. Both the 
immediate neighbour of V faces the 
opposite direction to each other. S faces the 
same direction as W. T faces the same 
direction as R. V faces same direction as U. 
T faces north.
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Who among the following sits immediate right of V?
(a) R
(b) T
(c) U
(d) S
(e) None of these

How many persons sit left of W?
(a) Two
(b) Four
(c) Three
(d) More than four
(e) None

Who among the following is an immediate 
neighbour of S?
(a) R
(b) W
(c) Q
(d) P
(e) None of these
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Which of the following statement is true about Q?
(a) S is an immediate neighbor of Q
(b) W faces opposite direction to Q
(c) Only two persons are sitting between Q and R
(d) U sits third to the left of Q
(e) None of these

What is the position of T with respect to R?
(a)Second to the right
(b) Third to the left
(c) Third to the right
(d) Immediate left
(e) None of these
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Six boxes M, N, O, P, Q, and R are placed 
horizontally in a room, each box is of different 
weight. Weight of box R is a perfect cube of a 
number. Box M is heavier than O but lighter 
than R. Only one box is lighter than N. P is 
heavier than Q and its weight is 54 kg. O is not 
the lightest box. Weight of third lightest box is 
30 kg. Not more than three boxes are lighter 
than M.

छह बॉतस M, N, O, P, Q और R एककमरे में िैनिज रूप से रखे
गए हैं, प्रत्येक बॉतस अलग-अलग वजनकथ है। डडब्बथ R कथ िथर
एक सांख्यथ कथ पूणा घन है। डडब्बथ M, O से िथरी है लेककन R से
हल्कथ है। केवल एक डडब्बथ N से हल्कथ है। P, Q से िथरी है और
इसकथ वजन 54 ककल़ो है। O सबसे हल्कथ डडब्बथ नहीां है। िीसरे
सबसे हल्के डडब्बे कथ िथर 30 ककग्रथ है। M से िीन से अथधक डडब्बे
हल्के नहीां हैं।
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Which of the following box is lightest?
(a) Box O
(b) Box M
(c) Box Q
(d) Box R
(e) None of These

What can be the possible weight of box R?
(a) 27 Kg
(b) 8 Kg
(c) 64 Kg
(d) 55 kg
(e) None of these

Which of the following is the second heaviest box?
(a) Box O
(b) Box P
(c) Box M
(d) Box Q
(e) Box R
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‘eaten sweety an man’ is written as ‘ la bc ta zo ’,
‘grass tree eaten group’ is written as ‘ cv vx la mo ’,
‘group an yell ban’ is written as ‘ zo dv ea vx’,
‘ban all sweety fruity’ is written as ‘fx ta kz dv ’,

What is the code for ‘man’ in the given code language?
(a) la
(b) bc
(c) ta
(d) zo
(e) None of these

What is the code for ‘tree’ in the given code 
language?
(a) cv
(b) vx
(c) la
(d) mo
(e) Cannot be determined
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What is the code for ‘yell’ in the given 
code language?
(a) zo
(b) dv
(c) ea
(d) vx
(e) None of these

What is the code for ‘ban’ in the given code language?
(a) zo
(b) dv
(c) ea
(d) vx
(e) None of these

What would be the possible code for ‘grass fruity 
taste’ in the given code language?
(a) cv mo yu
(b) fx kz ua
(c) ua cv zo
(d) sn cv fx
(e) kz fx mo

‘eaten sweety an man’ is written as ‘ la bc ta zo ’,
‘grass tree eaten group’ is written as ‘ cv vx la mo ’,
‘group an yell ban’ is written as ‘ zo dv ea vx’,
‘ban all sweety fruity’ is written as ‘fx ta kz dv ’,
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Six boxes- L, M, N, O, P, and Q are kept 
one above another in the stack. The 
lowermost box is numbered as one and 
the topmost box is numbered as six. The 
boxes are of different colors – Red, Blue, 
Yellow, White, Green, and Pink. All the 
information is not necessarily in the same 
order.
L is kept two boxes below the green box. 
L is not kept in the lowermost position. 
The number of boxes kept above the 
green box is the same as the number of 
boxes kept below the white box. M is kept 
immediately below the box which is kept 
three boxes above the white box. The red 
box is kept immediately above the Pink 
box. L is neither Red nor Pink. P is kept 
two boxes above the yellow box. P is not 
Green. O is neither Green nor yellow. Q is 
kept above box N.

छ: डडब्बे- L, M, N, O, P, और Q क़ो एक के ऊपर एक ढेर में
रखथ गयथ है। सबसे नीचे वथले डडब्बे क़ो एक के रूप में और
सबसे ऊपर के डडब्बे क़ो छह के रूप में क्रमथांककि ककयथ गयथ
है। बतसे ववभिन्न रांगों के हैं - लथल, नीलथ, पीलथ, सफेद, हरथ
और गुलथबी। जरूरी नहीां कक सिी सूचनथएां इसी क्रम में हों।
L क़ो हरे डडब्बे के नीचे द़ो डडब्बे रखे गए हैं। L क़ो 
सबसे ननचले स्र्थन पर नहीां रखथ गयथ है। हरे बॉतस 
के ऊपर रखे गए बॉतस की सांख्यथ सफेद बॉतस के 
नीचे रखे गए बॉतस की सांख्यथ के समथन है। M क़ो 
उस डडब्बे के ठीक नीचे रखथ गयथ है क्जसे सफेद डडब्बे 
के ऊपर िीन डडब्बे रखे गए हैं। लथल डडब्बे क़ो गुलथबी 
डडब्बे के ठीक ऊपर रखथ गयथ है। L न ि़ो लथल है और 
न ही गुलथबी। P क़ो पीले डडब्बे के ऊपर द़ो डडब्बे रखे 
हैं। P हरथ नहीां है. O न ि़ो हरथ है और न ही पीलथ। Q 
क़ो डडब्बथ N के ऊपर रखथ गयथ है।
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Six boxes- L, M, N, O, P, and Q are kept 
one above another in the stack. The 
lowermost box is numbered as one and 
the topmost box is numbered as six. The 
boxes are of different colors – Red, Blue, 
Yellow, White, Green, and Pink. All the 
information is not necessarily in the same 
order.
L is kept two boxes below the green box. 
L is not kept in the lowermost position. 
The number of boxes kept above the 
green box is the same as the number of 
boxes kept below the white box. M is kept 
immediately below the box which is kept 
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two boxes above the yellow box. P is not 
Green. O is neither Green nor yellow. Q is 
kept above box N.
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Which of the following box is Pink in color?
a) The box which is kept two boxes above Q
b) The box which is kept immediately below P
c) Box N
d) Box M
e) Box Q

Box L is in ___ color?
a) Red
b) White
c) Yellow
d) Blue
e) Pink

How many boxes are kept between O and the box which is 
White in color?
a) None
b) One
c) Four
d) Three
e) Two
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Which of the following box is kept above the white color 
box?
I) The box which is kept immediately above M
II) Box Q
III) The box which has a Yellow color
IV) Box L

a) Only I and II
b) Only III and IV
c) Only II and III
d) Only II and IV
e) Only I and IV

Four of the following are alike in a certain way. Which of the 
following one does not belong to the group?
a) O- Pink
b) M- Green
c) N- Yellow
d) Q- white
e) P- Blue
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Which of the following will be definitely true if the given expression 
W=L≥O=M>U≥C>H≥Q>P is definitely true?
ननम्नभलखखि में से कौन ननक्श्चि रूप से सत्य ह़ोगथ यदद ददयथ गयथ व्यांजक 
W=L≥O=M>U≥C>H≥Q>P ननक्श्चि रूप से सत्य है?
(a) W <U
(b) L ≥ P
(c) P > M
(d) O ≥ H
(e) C < L

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

Eight persons S, T, U, V, W, X, Y, and Z 
were born on the same date and same 
month of different years viz. 1948, 1953, 
1956, 1959, 1964, 1966, 1972, and 1981 
but not necessarily in the same order. 
The calculation of their age is based on 
the current year 2020.
Two persons were born between the one 
who was born in an odd-numbered year 
and the one who was born immediately 
before T. The number of persons born 
before T is as same as the number of 
persons born after Z. The difference 
between the ages of S and Y is 5. Three 
persons were born between Y and X, who 
was not the youngest. U was not born in 
an odd-numbered year and was born 
after V. W was not born immediately 
after U.

आठ व्यक्ति S, T, U, V, W, X, Y और Z कथ जन्म
एक ही िथरीखऔर अलग-अलग वषों के एक ही
महीने में हुआ र्थ। 1948, 1953, 1956, 1959, 
1964, 1966, 1972 और 1981 लेककनआवश्यक
नहीां इसी क्रम में ह़ो। उनकी उम्र की गणनथ चथलू वषा
2020 के आधथर पर की गई है।
ववषम सांख्यथ वथले वषा में पैदथ हुए व्यक्तिऔर T के
ठीक पहले पैदथ हुए व्यक्ति के बीच द़ो व्यक्ति पैदथ
हुए र्े। T से पहले पैदथ हुए व्यक्तियों की सांख्यथ Z के
बथद पैदथ हुए व्यक्तियों की सांख्यथ के समथन है।
आयु के बीच कथ अांिर S और Y की आयु 5 है। Y और
X के बीच िीन व्यक्तियों कथ जन्म हुआ, ज़ो सबसे
छ़ोटथ नहीां र्थ। U एक ववषम सांख्यथ वथले वषा में पैदथ
नहीां हुआ र्थ और V के बथद पैदथ हुआ र्थ। W कथ
जन्म U के ठीक बथद नहीां हुआ र्थ।
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Eight persons S, T, U, V, W, X, Y, and Z 
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Who was born in the year 1956?
A.T
B.V
C.Z
D.U
E.None of these

What is the age difference between X and U?
A.24
B.8
C.18
D.33
E.None of these

Z was born in which year?
A.1948
B.1956
C.1966
D.1972
E.None of these
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Which of the following pair of person’s name and birth year 
doesn’t form a group?
A.Y – 1964
B.T – 1953
C.W – 1981
D.S – 1956
E.U – 1966

What is the sum of the ages of V and U?
A.115
B.118
C.109
D.121
E.None of these
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A certain number of persons sit in a
straight row facing north direction. Even
number of persons not more than 20 is
seated in a straight line.
P sits fourth to the left of T, where neither
P nor T sits at the extreme ends of the
row. Only one person sits between P and
U. R sits fifth to the right of U. The
number of persons sitting between R and
S is half of the number of persons sitting
between U and R. Q sits adjacent to T. The
number of persons sitting between T and
S is the same as the number of persons
sitting to the left of Q. The number of
persons sitting between Q and the one,
who sits second from the left end of the
row, is equal to the number of persons
sitting to the right of S. V sits
equidistance from both U and S.

एक ननक्श्चि सांख्यथ में व्यक्ति उत्तर ददशथ की ओर मुख
करके एक सीधी पांक्ति में बैठिे हैं। 20 से अनथधक
व्यक्तियों की सम सांख्यथ एक सीधी रेखथ में बैठी है।
P, T के बथयें से चौर्े स्र्थन पर बैठथ है, जहथाँ न ि़ो P और
न ही T पांक्ति के अांनिम छ़ोर पर बैठथ है। केवल एक
व्यक्ति P और U के बीच बैठिथ है। R, U के दथयें से
पथांचवें स्र्थन पर बैठिथ है। R और S के बीच बठेै
व्यक्तियों की सांख्यथ U और R के बीच बैठे व्यक्तियों की
सांख्यथ कथ आधथ है। Q, T के आसन्न बैठिथ है।
व्यक्तियों की सांख्यथ T और S के बीच बैठे व्यक्तियों की
सांख्यथ Q के बथईं ओर बैठे व्यक्तियों की सांख्यथ के
समथन है। Q और पांक्ति के बथएां छ़ोर से दसूरे स्र्थन पर
बैठे व्यक्ति के बीच बैठे व्यक्तियों की सांख्यथ, बैठे
व्यक्तियों की सांख्यथ के बरथबर है S के दथईंओर। V, U 
और S द़ोनों से समथन दरूी पर बैठिथ है।
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A certain number of persons sit in a
straight row facing north direction. Even
number of persons not more than 20 is
seated in a straight line.
P sits fourth to the left of T, where neither
P nor T sits at the extreme ends of the
row. Only one person sits between P and
U. R sits fifth to the right of U. The
number of persons sitting between R and
S is half of the number of persons sitting
between U and R. Q sits adjacent to T. The
number of persons sitting between T and
S is the same as the number of persons
sitting to the left of Q. The number of
persons sitting between Q and the one,
who sits second from the left end of the
row, is equal to the number of persons
sitting to the right of S. V sits
equidistance from both U and S.
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How many persons sit in the row?
a) 17
b) 16
c) 18
d) 19
e) None of these

How many persons sit to the right of R?
a) Five
b) Four
c) Six
d) Three
e) None of these

If J sits adjacent to T, what is the position of P with respect to J?
a) 6th to the right
b) 7th to the left
c) 5th to the left
d) 5th to the right
e) None of these
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Who sits 6th from the left end?
a) U
b) Q
c) T
d) R
e) None of these

Who sits third to the left of T?
a) U
b) Q
c) Unknown person
d) R
e) None of these
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How many pairs of letters are there in the word “Government” each of which have as many 
letters between them in the word as they have between them in the English alphabetical 
series?
शब्द “Government” में अिरों के ऐसे ककिने ज़ोड ेहैं, क्जनमें से प्रत्येक के बीच उिने ही 
अिर हैं क्जिने अांगे्रजी वणामथलथ में उनके बीच हैं?
(a) Three
(b) One
(c) Two
(d) More than three
(e) None
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